KURITA Oilers

O O O

HWooooo

221542

m JUD00000AMJSOe 0UOOO000 ODBM JISOe pUOOO00OCM SO OO O OO U

i
M6l 00 O
Js0000
0ooooo
T oo 00 00 0O oo T 0O
ooo |P P00 g0 ooo |P P|P0 0o ooo |P 9|90 |gp |pooxooo|® B B0 | gg
M6x 0.75 | 40 | 13.5 | 100 PT1/8 105 | 21 | 100 PT1/8 110 | 21 | 100 || PFu/8x 15 | 125 [17 | 100
M6x 1.0 40 | 135 | 100 1/4 210 | 25 | 100 1/4 215 | 25 | 100 1/4x 15 | 130 |18 | 100
PT1/8 65 |20 | 100 3/8x 17 | 230 | 19.5 | 50
1/4 175 |25 | 100 PT1/8x 17 | 160 |19 | 100
3/8 330 | 26 50 1/4x 17 | 170 |22 | 100
m (000000 C0CADODOOOm OOOCODOCOBMOOODm ODQOOODOOOCO OOOO OO O O O
3 2 n
0O 0O 0O 00 0O 0o 0O 0O
ooo |P PP g0 ooo |P P|P0 oo ooo |P P P8 g0 ooo |P P P0 g0
M6x 0.75 | 40 | 13.5 | 100 || M6x 0.75 | 85 | 16.5| 100 || M6x 0.75 | 90 | 17.5 | 100 PF1/8 115 | 25 | 100
M6x 1.0 40 |13.5 | 100 || M6x 1.0 85 | 16.5 | 100 || M6x 1.0 90 |17.5] 100 1/4 190 | 27 | 100
M8x 1.25 | 110 | 155 | 100 || M8x 1.25 | 220 |16 | 100 || M8x 1.25 | 220 | 17.5 | 100 3/8 360 | 29 50
1/4x 280 45 | 13.5 | 100 || 1/4x 280 85 | 16.5 | 100 || 1/4x 280 90 |17.5] 100 PTL/8 130 | 27 | 100
PF1/8 55 |15.5 | 100 PF1/8 90 | 155 | 100 PFL/8 100 |17 | 100 1/4 220 |30 | 100
1/4 140 |21 | 100 1/4 190 | 205 | 100 1/4 200 | 21.5 | 100 3/8 420 | 32 50
3/8 290 | 24.5 | 50 3/8 350 | 22 50 3/8 350 | 22 50 1/2 | 1,030 | 355 | 10
000000 00000 00000 00000
-
LT TTTTTTTTT ;
0ooo
] 0000
0oooo
0o 0O 00 00 0O oo 00 00
ooxooo|® BP0 oo |looxooo|® P90 (oo |looxooo|P P[P0 oo |looxooo|® BP0 oo
20x PF1/8 | 300 | 23.5 | 20 || 18x PFL/8 | 470 |38 | 20 || 20x PF1/8] 1,480 | 65.5| 10 || 50x PF1/8| 1,100 | 64
25x 18| 410|275 , |[22x w8 | 650 |42 |, |[25x 18[1600| 73 | || 65 1,240 | 79
25x  1/4 | 450|305 22x  1/4| 710|465 25x 14| 1,700 | 78 75 1310 89| o
32x 18| 700|305 ,  |[28x w8 112052 | . |["82x /8] 1,750 | 99 100 1,430 | 114
32x  1/4 | 740|345 28x  1/4 | 1,120 | 53 32x  1/4| 1,750 |100 | 10 ||125 1,670 | 139
38x 14| 990 375 . |l84x w4 | 1480[60 | |l 82x 3/8| 1,900 103 150 1,870 | 164
38x  3/8 | 1,040 | 395 34x  3/8 | 1,590 | 62 38x  1/8] 2,020 |106 50x PF1/4| 1,290 | 65
50x  1/4 | 1,860 | 44 45x  1/4 | 2,690 | 75 38x  1/4| 2,020 |107 | 10 || 65 1,400 | 80
50x  3/8 | 1,860 |46 | 10 || 45x 3/8 | 2,690 | 75 | 10 || 38x  3/8| 2,200 |110 75 1440 | 90 | o
50x  1/2 | 2,060 | 49 45x  1/2 | 3,000 | 80 50x  1/8] 2,740 |136 100 1,550 | 115
65x  3/8 4550 |53 | o 50x  1/4| 2,740 |137 1 |[228 1,750 | 140
65x _ 1/2 | 4,550 | 56 50x  3/8| 2,740 |139 150 2,000 | 165
50x  1/2| 2,860 |140 50x PF3/8| 1,750 | 69
mLOoon =00 .D D D_ 65x  1/4| 3,290 |155 65 1,830 | 84
_r o) 65x  3/8| 3,290 |157 1 || 78 1890 | 94|
65x  1/2| 3,390 |157 100 2,000 | 119
75x  1/4| 4,830 |176 125 2,130 | 144
75x  3/8| 4,830 |176 1 |[250 2,210 | 169
0o 0 olog oo 00 5 0loog 00| % 12| 4830 178 50x PF1/2| 2,240 | 73
ooo oo 0oo 00 || 75x  3/4) 5330 [179 65 2,390 | 88
M6x 0.75 | 290 | 20.5 | 100 3/16 100 | 115 | 100 |[100x  1/4| 8,520 |206 75 2490 | 98|
M6x 1.0 | 270 | 20.5 | 100 1/4 110 |13 50 ||100x  3/8| 8,520 |206 1 || 200 2,570 | 123
M8x 1.25 | 290 | 20.5 | 100 5/16 130 |13 50 ||100x  1/2| 8,520 |208 125 2,700 | 148
5/16x 3200 | 290 | 20.5 | 100 3/8 140 |15 50 ||200x  3/4| 8,950 |209 150 2,830 | 173
PT1/8 270 20.5 | 100 [0 3/811/2001 200125013000 0000 O

0-65

OoOoooooo o o o o 0000000 OOOoooOoOooo o

o o o o

0000000 O0OOoO0ooooo



